BREXR(A—-F1)

(B5—H) (B=H) (B5=H)
#H HH #H
8/12(%) 8/13(H) 8/19(%)
=% MBEREY 4 — - hAB£> & — =% MBERLY 4 — - hBL> & — =% MBEREY 4 — - Bt & —
iS3| X5 BEZ SEED SHE iS3ET X5 REA SEEm SIHE feF R X5 BNEZ SEED =54
KEXw Y Z—
BEEA 0
9:00 9:00 9:00
[T+ —3> 0Ty 7eo—| IVARFREHEE
B - BEEE o i e s o HrE v Z— IVARFRFHED
REE RS AH FE ER - EEED | [fEEEE ER) | = hBEL & —
10:00 10:00 FBE M 10:00
\ o JVAL SRR
11:00 | =5 - f5EED B N3 | mEer2— | 11:00 11:00
AH RE VAR ST
g [N L —R—JL D | HwE L &—
e PE KD -
12:00 12:00 12:00
BEIRA BEIKRA
13:00 13:00 13:00
. MVAZEHIEE
e, G JVARERFEED . N e e I HERt>%—
BRI [feEEDEY A e MRt %— BRI [GHR A & B VL7l — B 4 ERBRE [AZIL—T ] FE He | ka4 —
14:00 14:00 R E£E 14:00 EHTE [BZIL—7] Bl Bz TRt & —
VAR TR JVALREBERED
HEE [NL—R— L OFF BTRtEY & — HRES MEBEOIR MRz & — i
e 3 i /N Ese ] e TRt % e 3 A HESTEOIIE ] FE o TRt & ®E
15:00 15:00 15:00 ERBE [BLIL— 7] FE S N—E D
Saz4— JVAZNERE e [ A . I .
JVARERFEED j\ l =3 [TL—vV—Xtra2—1F] IR Rt % — EIRE AT IL—T] gl B2 | IREY&—
EH - EET | [Nl — R — L DR = By & — ¥avRE P M
16:00 FBE MO 16:00 16:00
B = MRty 4—
) [E—F L —0fgEEEH| IVARGRHEM | IRt 42—
17:00 17:00 Hpmes N 17:00
I V— Ll P WS | tEEY2—
EH - EEEE | (75— —3a  HEE) - By 4 —
)
18:00 18:00 18:00
EAWEHR 8.5h EAWER 8.5h REREER 3h

20h




